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= Exr = 2% kavévag tov Kirchhoff: ot xheiotd Ppoyyo X V=0

M 1« Kirchhoff (T): I, +1,=1 (1)

M 2%k Kirchhoff (ABTHA): —I,R +E, —I,r,—IR, =0=>—1,-10+100—1,-5—1-40 =0 =

=100=157,+40/ =20=31,+81 (2)

M 2%« Kirchhoff HTAZH): +IR, —E, + Ly, =0=>1-40-50+1,-10= 0=

=407/+10/,=50=4/+1,=5 (3)

NQOB): I,=5-41
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»Q): 12:5_4125_4;_5: 12__£ y He popa avtifety ox’ avthv

23 7ov vIobéoaue oTO KOKAWUA
20-81 20-8-35/23 60
NQ2): I, = = = |l =— 4
(2): 1, 3 1= 53
»check:

2%k Kirchhoff (ABTAZHA): —I,R,+E,— 1,5, —E, +1,r, =0 :>—%-10+100—%.5—50+(—%).10 0=

—B 5 600+2300-300—-1150-250=0=0=0

Empérewa: Avaotdoros Né(ns https://www.nezistasos.com/




